
 

 
Product Information Packet 

HDS180-3555BEKNN 
HDS180-3555B w/Inc encoder(2500ppr), Key

Copyright © All product information within this document is subject to ABB Motors and Mechanical Inc. copyright © protection, unless otherwise noted.

Specs

Bearing Grease Type: Polyrex EM

Dimensional Drawing Numbers: HD180LYA001

Nameplate Amps: 21.5



Page 2 of 9                                

                                                                  Product Information Packet: HDS180-3555BEKNN - HDS180-3555B w/Inc encoder(2500ppr), Key

Nameplate LB1577T01

MODEL: HDS180-3555BEKNN
PN 5.5 KW TO 35.0 N.M IO 21.5 A

U 400 V TP 105.0 N.M IP 70.4 A
NN/N MAX 1500/3500 RPM 3XPTC130

FBK ENC IP IP54 INS F
BRK: VDC/ N.M

S/N



Page 3 of 9                                

                                                                  Product Information Packet: HDS180-3555BEKNN - HDS180-3555B w/Inc encoder(2500ppr), Key

Parts List

Part Number Description Quantity

HD180SA0001B87 STAROR ASSEMBLY,HDS180,87MM,400V 1.000 EA

HD180SH0002A87 SHAFT,ROTOR L87MM, HDS180,TAMAGAWA INCR. 1.000 EA

HD180RA1000A87 ROTOR ASSEMBLY (W/O SHAFT),HDS180,87MM 1.000 EA

84YN0060J012C HEX SOCKET HEAD CAP SCREW,M6X12,GB/T70.1 2.000 EA

MJ5004A05CN #242-21 LOCITE GENERAL PURPOSE MED. STR 0.100 ML

HD180EP3100A01 END PLATE,REAR,MACHINED,HDS180 1.000 EA

RM1020B04 O-RING,164.8MM IDX2.62MM DIA,NBR,SHORE 7 1.000 EA

HW5100D62 SPRING WASHER,D62,BWW-6305,OCHIAI 3.000 EA

BG6206C10 BEARING,6206-2Z/C3,GJN GREASE,SKF 1.000 EA

84YN0100J035C M10X35MM SHCS,GB/T70.1,8.8 DEGREE,BLACKE 4.000 EA

MJ5004A05CN #242-21 LOCITE GENERAL PURPOSE MED. STR 0.400 ML

HW5010C45 CIRCLIPS FOR SHAFT-TYPE A,45MM,GB/T 894. 1.000 EA

HD130OE1000E01 SUB-ASSEMBLY, INCR. ENCODER, HDS130 1.000 EA

LD2200A62 GRND LEAD ASSY,12AWG,GRN/YEL, M6 RING 1.000 EA

09YN0060A012 SCREW ASS,CROSS PAN HEAD,SPRING & PLAIN 1.000 EA

RM1020B05 O-RING,111.5MM IDX2MM DIA,NBR,SHORE 70 1.000 EA

HD180CB0001A01 END COVER,HDS180,MACHINED 1.000 EA

84YN0040J012 SCREW SOCKET HD M4 X 0.7 X 12MM 4.000 EA

WD1456A09 CONNECTOR,POWER,M40, 8 PIN,MALE,ROTORABL 1.000 EA

WD1456A09A01 CRIMP CONTACT,3.6MM,PHOENIX,SM-36KP003,F 4.000 EA

WD1456A09A02 CRIMP CONTACT,2MM,PHOENIX,SF-7PP2000,FOR 2.000 EA

WD1456A09A03 CRIMP CONTACT,2MM,PHOENIX,SF-7RP2000,FOR 2.000 EA

15YN0040A012 ROUND HEAD, CROSS RECESS SCREW,M4X12,ZIN 4.000 EA

WD1456A06 CONNECTOR,SIGNAL,M23,17 PIN,MALE,PHOENIX 1.000 EA



Page 4 of 9                                

                                                                  Product Information Packet: HDS180-3555BEKNN - HDS180-3555B w/Inc encoder(2500ppr), Key

Parts List (continued)

Part Number Description Quantity

HA10B1 COVER PLATE,FOR MOUNTING CONNECTOR 1.000 EA

GS0107 GASKET,NBR RUBBER 1.000 EA

15YN0030A012 ROUND HEAD, CROSS RECESS SCREW,M3X12,ZIN 6.000 EA

HW2511C03 KEY,MATRIC,ROUNDED ENDS,10X8X63MM 1.000 EA

LB1577T01 NAMEPLATE,HDS PROTOTYPE 1.000 EA

LB1578 HOT WARING MARK 1.000 EA

LB1579 NO KNOCKING MARK 1.000 EA

LB1580 QR LABEL, HDS 1.000 EA

LB9512 INK RIBBON,W90MM*L300M 0.070 M

HDS180PA3555 MOTOR PACKING GROUP, HDS180-3555 1.000 EA



Page 5 of 9                                

                                                                  Product Information Packet: HDS180-3555BEKNN - HDS180-3555B w/Inc encoder(2500ppr), Key

No performance data has been
assigned to this product.



Page 6 of 9                                

                                                                  Product Information Packet: HDS180-3555BEKNN - HDS180-3555B w/Inc encoder(2500ppr), Key

0101

02

03

03

03

 L 

 
18

1 

 
35

 j6
 + -0.

01
1

0.
00

5
 

 
11

4.
3 

j6
 + -0.

01
3

0.
00

9
 

 3.5 ±0.3 

 80 ±0.5 

 7 ±0.5  63 h14 
 
-
0
0.74  

 16 ±0.5 
FLANGE THICK

 M
10

20
 

 27.5 

A

A

EYE BOLT: M8
(OPTIONAL)

EYE BOLT: M8
(OPTIONAL)

NOTES:
DIMENSIONS: mm1.
NOT TOLERANCE DIMENSIONS 1.5mm2.

0.
04

A

0.04 A

A

45°

4X  13.5 THRU EQS

200

 38 

 
18

0 
 6

0 

 4
4 

8-PIN POWER CONNECTOR
ROTATABLE 310

17-PIN FDBK CONNECTOR
ROTATABLE 310

0.3 A

 10 h8 
 
-
0
0.022  

 8
 h

8 
 -0 0.

02
2
 

 3
0 

 -0 0.
2  

SECTION A-A
SCALE 1 : 1

31
.5

0 -0
.2

MOTOR TYPE L
[mm]

MOMENT OF 
INERTIA

[kg.cm2]

WEIGHT
[kg]
400V

WITH
BRAKE

WITHOUT
BRAKE

WITH
BRAKE

WITHOUT
BRAKE

HDS180-2540BRKxx
297 51.7 44.6 24.4 19.7

HDS180-2540BE(S)Kxx

HDS180-3555BRKxx
326 70.6 63.5 29.1 24.4

HDS180-3555BE(S)Kxx

HDS180-4876BRKxx
355 89.2 82.1 33.6 28.9

HDS180-4876BE(S)Kxx

HDS180C-2540BRKxx
297 153.7 146.6 29.8 25.1

HDS180C-2540BE(S)Kxx

HDS180C-3555BRKxx
326 176.2 169.1 34.9 30.2

HDS180C-3555BE(S)Kxx

HDS180C-4876BRKxx
355 198.4 191.3 39.8 35.1

HDS180C-4876BE(S)Kxx

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

C

HD180LYA001
HD180LYA001

03 000001069859
-HD180LYA001

09:19:28 05/15/2018C

CNLYLIN4

ADD HIGH INERTIA TYPE MOTORS

H
D

180LY
A

001

REF:

TDR:VERSION:

MODEL NO.

REVISED:

BY:

REV:
REV. DESC:

HDS180 LAYOUT,RES./ENC.,KEY;OPTIONAL:BRAKE,SEAL,HIGH INERTIA
Material: -



Page 7 of 9                                

                                                                  Product Information Packet: HDS180-3555BEKNN - HDS180-3555B w/Inc encoder(2500ppr), Key

01

02

03

4 x  13.5 THRU  EQS

200

45°

B

B

8-PIN Power connector
Rotatable 310

17-PIN FDBK connector
Rotatable 310

Tightening torque: 20N.m(M10×35)
Coat with LOCITE 242

0.3 M A

 
11

4.
3 

j6
 + -0.

01
3

0.
00

9
 

 80 ±0.5 

 L ±1.5 

 3.5 ±0.3 

 29 

 L1 

 0.1~0.25 
Initial air-gap average

 1 ±0.5 
Oil seal position

 
35

 j6
 + -0.

01
1

0.
00

5
 

 51 

01

01

03

E

SECTION B-B
SCALE 2 : 3

Potting face

Optional:
Oil Seal,65x44x10

Front End Plate

Shaft

Key,10x8x63mm

Circlips For Shaft,
45mm

Circlips For Hole,
85mm

Bearing,6209-2Z/C3

O Ring 164.8X2.62

Stator ASS.

Rotor ASS.

O Ring 164.8X2.62

Optional:
Brake

Rear End Plate

O Ring 111.5X2

End Cover

INCR./Smart-ABS Encoder

Optional:
Key-C 10X8X20mm

Bearing,6206-2Z/C3

Spring Washer,D62

Potting face

Tightening torque: 3.71N.m
(M4×20)
Coat with LOCITE 242

Gasket,NBR rubber

Cover plate

Optional:
Circlips For Shaft,
37mm

10X8X22
Optional:
Inertia wheel

0.
04

A

0.04 A

A

Tightening torque: 2.6N.m(M6×12)

Tightening torque: 20N.m(M10×35)
Coat with LOCITE 242

Tightening torque: 1N.m(M3×8)

 8 ±1 
 L2 ±2 

 18.63 

 63 h14 
 
-
0
0.74  

 R5 

 7 ±0.5 

C

C

D

Hot warning mark

No knocking mark

Tightening torque: 1N.m(M3x12)

Tightening torque: 1.7N.m

Tightening torque: 1N.m(M4x12)

Tightening torque: 3.2N.m

 1
0 

h
8 

 -0 0.
02

2
 

 8 h8 
 
-
0
0.022  

 30 
 
-
0
0.2 

SECTION C-C
SCALE 2 : 3

 L3 ±2  44  3 ±1 

03

03

03

VIEW D
SCALE 2 : 3

Nameplate

QR Lable

Optional:
Eye Bolt,M8

Optional:
Eye Bolt,M8

Tightening torque: 2.8N.m(M4×12)
Coat with LOCITE 242

Optional:
FLATWASHER,M8,GB/T96.1 Optional:

FLATWASHER,M8,GB/T96.1

01

VIEW E
SCALE 2 : 3

Optional:(For fixing brake)
Tightening torque: 5.7N.m(M6×40,Class 12.9)
Coat with LOCITE 242

Optional:(Without Brake)
Tightening torque: 2.6N.m(M6×12)
Coat with LOCITE 242

NOTES:
DIMENSIONS: mm1.
NOT TOLERANCE DIMENSIONS 1mm2.
DIMENSIONS IN ( ) ARE REFERENCE.3.

31.5
0

-0.2

MOTOR TYPE L L1 L2 L3

WEIGHT
(kg) REMARK

WITH
BRAKE

WITHOUT
BRAKE

HDS180-2540BE(S)Kxx 297 58 90 65 24.4 19.7
WITHOUT 
INERTIA 
WHEEL

HDS180-3555BE(S)Kxx 326 87 105 80 29.1 24.4

HDS180-4876BE(S)Kxx 355 116 130 105 33.6 28.9

HDS180C-2540BE(S)Kxx 297 58 90 65 29.8 25.1
WITH 

INERTIA 
WHEEL

HDS180C-3555BE(S)Kxx 326 87 105 80 34.9 30.2

HDS180C-4876BE(S)Kxx 355 116 130 105 39.8 35.1

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

H
D

18
0A

Y
M

00
2

000001069859
-HD180AYM002

04:42:30 05/11/2018C

CNLYLIN4

ADD HIGH INERTIA TYPE MOTORS

H
D

180A
Y

M
002

REF:

TDR:VERSION:

MODEL NO.
BY:

REV:

REV. DESC:

HDS180 MOTOR ASS.,INCR./SMART-ABS ENC.,KEY;OPTION:BRAKE,SEAL
D

03 REVISED:

Material:



Page 8 of 9                                

                                                                  Product Information Packet: HDS180-3555BEKNN - HDS180-3555B w/Inc encoder(2500ppr), Key

WD1456A09
(Plug side)

WD1456A06
(Plug side)

M40 Power connector

M23 Signal connector

Motor connection definition_Incremental encoder

Power connector definition
(Power & Brake & PTC leads)

Signal connector definition
(Incremental leads)

PIN Function Color PIN Function Color PIN Function Color

U U(R) phase Black 1 DC+5V Red 10 U Brown

V V(S) phase Red 2 GND Black 11 U Brown/Black

W W(T) phase Blue 3 A Blue 12 V Gray
P
E Ground Yellow/Green 4 A Blue/Black 13 V Gray/Black

1 PTC Black 5 B Green 14 W White

2 PTC Blue 6 B Green/Black 15 W White/Black

+ Brake Yellow 7 Z Yellow 9,16,17 - -

- Brake Yellow 8 Z Yellow/Black

Note: When motor without brake, power connector PIN +/- function is N/C.

Motor connection definition_Hiperface DSL encoder

Power connector definition
(Power & Brake & DSL leads)

PIN Function Color

U U(R) phase Black

V V(S) phase Red

W W(T) phase Blue

PE Ground Yellow/Green

1 +US/DSL+/PTC Gray

2 GND/DSL-/PTC Green

+ Brake Yellow

- Brake Yellow

Note: When motor without brake, power connector PIN +/- function is N/C.

Motor connection definition_Smart-ABS encoder

Power connector definition
(Power & Brake & PTC leads)

Signal connector definition
(Smart-ABS encoder leads)

PIN Function Color PIN Function Color

U U(R) phase Black 1 VCC Red

V V(S) phase Red 2 GND Black

W W(T) phase Blue 3 VB Brown

PE Ground Yellow/Green 4 GND Brown/Black

1 PTC Black 5 SD Blue

2 PTC Blue 6 SD Blue/Black

+ Brake Yellow 7 Gase GND Gray

- Brake Yellow 8~17 - -

Note: When motor without brake, power connector PIN +/- function is N/C.

Motor connection definition_Resolver

Power connector definition
(Power & Brake & PTC leads)

Signal connector definition
(Resolver leads)

PIN Function Color PIN Function Color

U U(R) phase Black 1 R1 (REF+) Red/White

V V(S) phase Red 2 R2 (REF-) Yellow/White

W W(T) phase Blue 3 S1 (COS+) Red

PE Ground Yellow/Green 4 S3 (COS-) Black

1 PTC Black 5 S4 (SIN-) Blue

2 PTC Blue 6 S2 (SIN+) Yellow

+ Brake Yellow 7~17 - -

- Brake Yellow

Note: When motor without brake, power connector PIN +/- function is N/C.

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

CD
21

67
A

10

B CONNECTION DIAGRAM,HDS180

REV. DESC:

REV:

BY:

REVISED:

MODEL NO.

VERSION: TDR:

REF:

CD
2167A

10

NEW

CNSESU2

- 01:37:13 09/29/2017
-
00000104496700

CD2167A10
Material: -


